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" 1. Solveforx:—9x +6(2x —3) = —11 — 4x
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4. Find the slope and y-intercept of 4x — 5y =5.
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5. The perimeter for a rectangle is 44 m. If the width were doubled and the lengt we@%
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increased by 8 m, the perimeter is 76 m. What is the length of the rectangle?
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_ 6. Find the product: (4x —5y)? - ("l’)( gjxi'l')( 6%)
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7. Factor by grouping: x3 + 6x2 + 8x + 48
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8. Determine the two factors of 20x2 — 7x — 6.
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9. Aroom has an area of 456 square feet. One dimension is 5 feet more than the other.

Find the dimensions of the room. ‘4 ’d w
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10. Factor: —x2 — 2x + 24
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11. Use the Quadratic Formula to solve the equation: 4n? = —6n — 1
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14. Solve fory: =7y —12 < -8y —5
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15. Find the x- and y-intercepts. Then graph the equation 3x — 18y = 18

y-axis
i
5
a4
3
2
- M
S |5 |4 |3 :-1 A e il 6
—éf“"‘"’/ -2
~ -3
-4
-5
-6Y
use X- o\ \j—‘\\r\'\'ﬁf(’ee‘(g
> ' - =
=W DK - \gkey = 1K \5-\«\-\-. 3T -\€y §
X=L ) _\
LLo) ()
(o)
—~



